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1.HRER

BEAE =T DR EARE ES

(mm) yid a 13 (kg/cni)
0.5 3.5 45 4.00 33.82
1.0 15 8.0 7.75 65.54
1.5 11.0 11.5 11.25 95.14
20 145 | 150 | 14.75 124.74
2.5 17.5 18.0 17.75 150.11
3.0 205 | 215 | 21.00 177.59
5.0 32.0 33.0 | 32.50 27485
1.5 45.0 46.0 | 45.50 384.79
10.0 57.0 58.0 | 57.50 486.27
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1.HBRER
BRIEmm | aBF+t(e) b.&(e) c.t() EHE® RIEE®)
40.0 555.0 555.0 0 0 100.00
375 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 573.8 573.8 0.0 0.00 100.00
9.5 906.5 543.1 363.4 30.21 69.79
6.7 777.2 4774 299.8 24.92 4487
4.75 781.7 527.7 254.0 21.12 23.75
2.36 717.0 505.1 211.9 17.62 6.14
1.180 586.3 546.0 40.3 3.35 2.78
0.425 389.5 356.3 33.2 2.76 0.02
0.075 317.2 316.9 0.3 0.02 0
0.0 349.6 349.6 0.0 0 0
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